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— B X7 ®

HAMERENBEE, RERSAICNETFIE
K ERBHBR.

F—R JBAma -+ mbly LA B R 5

ZHiXma+mbBEERRAKRK, HBHA
ma+mb=m (a+b)
mERET—IBHR. TEFRILSTERS BXETH
KA B F .
i1 AMERK. (x—2y)x3— (y—2x)y?
B, EXWABRAESEKX T, HYE ES BRI kS
4,
RR=xt—2x3y—yi4+2xy3
= (xt—yt) — (2263y—229%)
= (x2+y?) (x2—y?) —2xy (%*—y*)
= (x2~y?) (x2+y2—2xy)
=(x+y) (x—y) (x—y)?
=(x+y) (x—y)?
g2 HREARX: x3—6x*+5x+12
e, BRSRECE 1, BEWEL, HHEBM KU

W—BmSR, RRENESLR, REERE BT RLEH
k. HITH.
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x=%1, +2, £3, L4RANER, MHEHEHTE, 0
(x—a) BDREPH—AERX (a=+1, +2, £3,
t4), fBx=—1RAERK, W
BEX=(—-1)3—6(—1)*+5(—1)+12=0,
Bx— (— 1) B (x+1) BEKK—AERK. X &5
EKXK AR, THE—&E, W
BRX=x34+x2—7x2— 7x4+12x+12
=x2(x+1)—7x(x+1)+12(x+ 1)
=(x+1) (x*—7x+12)
=(x+1) (x—3) (x—4)
513 SHMER. ?(b—c)+b*(c—a)+c2(a—b)
#, BEX=a2b—atc+bic—biatci(a—b)
=(atb—b%a)—(a%c—b2c)+c%(a—b)
=ab(a—b)—c(az—b2)+c2(a—b)
=(a—b)(ab—ca—cb+c?)
=(a—b)(a(b—c)—c(b—c))
=(a—b)(b—c)(a—c)
CEERE. XENERXNE, UREARKTESS
B3 )
Bla HBERX. (a+26+c)—(a+b)*—(b+c)?
R, EEFe+2b+c=a+b+b+c, FMLH A Biral
FRa+bMbte, XTRBET, XERELFIHLXT.
Watb=A, b+c=8B. Ma+2b+c=A+B, Fi
BERX=(A+B)3—A*—B*=(4+B)* —-(4*+5*)
=(A+B)}—(A+B)(A*— AB+B?)
=(A+B)((A+B)?—(A2— AB+B?)}
=(A+B)( A2 +B*+2AB— A* + AB— B?)



=(A4+B)+ 3 4B
PlA=e+b, B=b+cRZEAN
BRX=3(a+2b+c)(a+b)(b+¢)
B, mRRFMAAR
(A+B)*=A4*+3A4*B+3AB*+B?
=A3+B3+3A4AB(A+B)
RN, B
(A+B)3— 43— B3 =34B(A+B)
IR R
HEXABEREEH 2B BEAEST, N TEINE
RAME, MPBRASHRE, —REERE-AEXSEY
FEEENREINE. FERER, RE—EBR F(2)
BEBRF(x)5h, R AR ER, WX MEXF(x)
g E .

% A3 —

1. BTHEXSBRER:

(1) ab(x*+y*)+xy(a® +b%);

( 2) (a+2b)a>—(b+2a)b3;

(3 ) ntx—xy—ntytanty?—y3,

( 4)(1+82)(1+a)*—(1+8)2(1 +a?).
2. BFHEKXNBER:

(1)x3+43x—4;

(2)x3+x+30;

(3 )xt—2x3—7x248x+12;

(4 ) x*—5%x342%24+20%—243



( 5 ) ab(a—b)+be(b—c)+ca(c—a)s

( 6 )abla+b)+be(b+c)+eca(e+a)+2abe.
3. HRER.

(1) (a®+b2+c2)3—ab—bs—c8,

(2)(xy— 1Y +(x+y— 2 )(x+y—2%);

( 3)(a®+ab+b2)2 +4ab(a+b)?;

( 4) (a—2b)'a—(b—2a)%b,

FETIR BRx?+(a+b)x +ab BT H 018

BPE WX RE, 2 +(a+b)x+abHRERH
x2+(a+b)x+ab=(x+a)(x+b)
i1 HBERK. x*—Tx—60
@, ‘catb=—17, ab=—60, .. a=-—12, b=5,
/8
BERX=(x—12)(x+5)
gl2 HFRAR. (x2—4x)2— 2(x2—4x)—15
. AR PEgx — 4 BIEE SE—-A R, RuRf2,
T JE A8 g e
BER=u?—2u—15=(u—5 )(u+3)
=(xf—4x— 5 )(x*—4x+3)
=(x— 5 )(x+ 1)(x— 1)(x=3).
B3 AMER. (2+7x+ 6 )(%2+7x+12)—280
2, Wu=x*+7x, M
EX=(u+ 6 )(u+12)—280
=u2 +18u+72—280=u’ +18u—208
=(u+26)(u—8)



=(x2+7x+26)(x2 +7x~ 8 )
=(x2+7x+26)(x+ 8 )(x— 1)
Bigu=x2+7x+9, m
izt =(u— 3 )(u+ 3)—280
=u?— 9 —280=u’—289=u2—17% ( FH})
WERED K ZWRNHTHM, BRETTE.
Bla BBEK: (x—4)(x— 2 )(x+1)(x+3)—24
M. HEH, (x— 4)(x+3)=a2—x—13,
(x=2)(x+1) =x2—x—2, Hu=x>—x, J
BR=(x?—x—12)(x*—x~ 2 )—24
=(u—12)(u— 2 )—24 =u%—14u+24—24
=u? —4u=u(u—14)=(x?—x)(x* — x—14)
=x(x— 1 )% —x—14)
MRARZM L RBENL L T AHKMRBOXO x
Ox@(D, @ @ OEFRHIMHBWEAR) TEFH=
Rk
(Ox@)*(@x®@)
(OX@)X(@x®)
(Ox@)X(@xB®)
R EE=ZM . BN LA RB R RERHE.
P15 AHMER. (¢ +11x+24) (%2 +14%+24)—4x2
. P REAH, HEHRTEESN, Hik, T
BWu=x2+24, W
FER=(ut+11x)(u+14x)—4x2
=u2+25ux +154x2 — 4x2
=u?+25ux +150x2
=(u+10x)(u+15x)



=(x2+10x+24)(x2+15x%+24)
=(x+4)(x+ 6 )(x2+15x+24)
Bi6 SHBER: 4x2—4xy—3y2—4x+10y— 3
iR, PERXECWERETRE, B CTTHER &,

B
BR=4x2— 4(y+ 1)x—(3y2—10y+ 3)
=4x2— 4(y+1)x—GBy— 1) (y—3)"
=(2x—(3y— 1 )2x+(y=3 )"
=(2x—3y+ 1)(2x+y—3)
K
* 3 -1 (3y—
1><_ 3 ><+(y_ 3 )
—10 —4(y+1)
% 3 =
1. HRERK.

(1) (%2+5x)2+10(x2+5x)+24;

( 2) (xy+ab)(xy—ab)—a?(xy—b*)—b*(xy—a®);
(3)(x243x=—2)(x2+3x+ 4 ) —16;
(4)(x2+x+ 1) x2+x+2)—12;

(5 ) (az2+3a+2)x2+(2a2 +20—1)xy+(a2—a)y2,

. HEER.
(1)(x—1)(x—2)(x—3)(x— 4)—24;
(2)(x+1)(x+3)(x+5)x+7)+15;
(3)x(x+1)(x+2)x+3)+1;



(4)(x2—x— 6)x2+3x— 4)+24.

3. HRAR.
(1)x2+2xy—8y2+2x+14y— 3,
(2)2x2—xy—6y2+2x+17y—12;

( 3 )a?+ab—gb2+a+136—6;
(4)(a+b—~2ab)(a+b~ 2)+(1 —ab)2,

=R BAa2 - BTN ERS

FIRAREAR
a2—b2=(a+b)(a—b)
HATE K4
1 SRER: 4xPy—4xy’
B BR=dxy(x2—y2)
=4xy(x—y)(x+y)

2 HBER: 2522—4x2+12xy—9y2
| WEI. 402123y +9y2=(2x—3y)?
F=2522—(4x2~12xy+9y2)
=(52)2—(2x—3y)2
=(5z+2x—3y)(52—2x+3y)

Bz HMERX. o —702b2+81b
B ZRXFWREAZREZT ARG R W, HE
#: o' +18a262+81b% =(a2 +9b2)2, N
H&=0a* 4184025248164 —7a2b2 —18g2b2
=a*+18a2b2+816% —25a2b2
=(a2 +9b2)2 —(3ab)?
=(02+Sab+9b2)(02—-50b+962)



i 4 ﬁﬁlﬁiﬁ at*~+64
B ER=a'+16a2+64—16a2 R
=(a2+ 8)2—(4a)?
=(a2+4a+ 8 )(a2—4a+8)
MBI3, 4FH. FRHATHRIASHEK BN, LARE
— B,
GI5 SBER.x! oyt b2t —2x2y2—2x222 —2y222
W ERILR
(A—B—C)? =A%+ B2 +C2—2A4B—2A4C+2BC
Bt
R=xt+yt +2t—2x2y242y222—222x2
—4y222

=(xz_yz.._zz)2.._(2yz)z )
=(x2—y2—z2+2yz) (52~ yt—2z2—2y2)
=(x2—(y—2)2)(x2—(y+2)2]
$(x+y—z)(x—y+z)(x+y+z)(x—-y-z)

) =
% 3 =

ECRPIE S oy B
(1) (5x2—3y2)2—(3x2—5y2)2%,
(2)a2b2—ag2—b2+1;
(3 )9x2—gy2—2z2—4yz;
(4)xt—23x241;
(5 )a*—3a2b2+b4,
(6)xt—7x2y2+y4;
(7)(1—a2)(1—b62)—4ab,



( 8 ) (c2—a?—b2)2—4q2b2,
(9)at+bi+-1 —2a2b2—2a2—2b2;
(10) x4 —2x2(y2 +22)+(y? —22)2,
(li) xt4x2—2ax+ 1 —a2,

BIE  LHad + b3 + o3 — abel RS

£ JRa® +5b3 +¢3 — 3abelty R4 T 2
B =(a+b)? +c3—3abc—3a2b—3ab?
=(a+b+c)((a+b5)2—(a+b)c+c2)
—3ab(c+a+b)
=(a+b+c)(a?+2ab+b2—ac~bc +c2—3ab)
=(a+b+c)(a2+b2+c2—ab—bc—ca)
ad+b3 4¢3 ~3abc
=(a+b+c)(a2+b2+c2—ab—bc—ca)
RE—PEEAR, #ENGEE, ﬁ%"ﬁ%ﬁ*ﬁﬁ%ﬁ&"ﬁ
BB, B, AKX PHe=0, RE ‘
a® +b3=(a+b)(az—ab+b2)
Hoe=—(at+b), W
ad+63—(a+b)? +3ab(a+b)
=(a+b—(a+b))(a2+b2+(a+b)2—ab
+a(a+b6)+b(a+8))=0
B
(a+b)? =a® +3a2b+3ab2+bd

AXETTAE R
a3 +b3 +c3—-3abc=%(a+b +c)(2a2 +2b2 +2¢2

9



—28b—2bc—2ac)
=%(¢+b+c)[(a—b)z
+(b—c)2+(a—c)2)
mBa+btc=0rt, Mad+b3+cd=3abc,
MPa+o+c> 08, Ra®+b63+cd> 3abc (FHHH
X Ya=b=cRI ).
Hx=ad, y=>b3, z=c3, WK
xty+z=3Yxyz,
’LJL%’—"E—>E/HE.
Hepx, v, 2HER (SEYHNYxr=y=2HKL ).
B4, E—BEREEPBEBXAAR.
Bl HBERK. x3—8yI—2T—18xy

e BR=x3+(—2y) +(—3)*—3x(—25)(—3)
' =(x—2y—3)(x2+4y2+9+2xy— 6y +3x)
$i2 H3x=a+b+chf, KiE
(x—a)d+(x—b) +(x—c)? —3(x—a)(x—b)(x—¢c) =0
E: B Sk Rk =, F (2 —a), (x—5),(x— )4,
FUAABMX, ¥V, ZRZ, XM3x=atbtcfg3x—e—
b—c=0, B(x—a)+(x—b)+(x—¢c)=10,
X+Y+Z=0
B e
Ep=X3+Y3+Z3-3XYZ
=(X+Y+2)(Xz+Y? +22-XY—-YZ—-XZ)
=0

10



F3 Hatbtc=0H, KiL
(ax+by+cz)d +H(bx+cy+taz)d+(cxtay
+bz)3
=3(ax+by+cz)(bx+cy+az)(cx+ay+bz)
MEER: ¥ (ax+by+cz)+(bx+ey+az)
+(cx+ay+bz)
=a(x+y+z)+b(x+y+z)+c(x+y+z)
=(a+b+c)(xty+2)=0
BREBEARES 2 TH
(ax+by+cz)3 +(bx+cytaz)? +(cx+ay
+b6z)3— 3(ax+by+02)(bx+cy+az)(cx+ay
+62)=10
& (ax+by+cz)3+(bx+cy+az)3+(cx+ay

+b2)3
=3(ax+by+cz)(bx+cytaz)(ex +ay+bz)

% 3 H

1. MERRK.
(1)x¥—y3+28+3xyz;

(2)8x3+27y° +18xy— 13
( 3)x3+8y*—12528 +30xy2.
2 . EHTHEK:
(1) (@a—b)2+(b—c)*+(c—a)’ =3(a—b)(b—c)
(¢c—a)s
( 2 ) Y3y=x+220, RiEx®—27y3+82° +18xyz
= 0’
11



